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Sherbet fills a red litre jug with concentrated orange juice and is then called away to the telephone.

Jez appears on the scene and decides to pour one quarter of the concentrated juice into an empty green litre jug.

Checking that Sherbet is still on the telephone Jez fills the green jug up to the top with water and mixes the contents.


He now fills up the red jug with his mixture from the green jug.

(a)	How much concentrated orange juice is now in the red jug?

(b) Would Jez be able to fool Sherbet and move one half of the concentrated orange juice?


